AN
T

MeEEEMEERERAE

e %
8 B
g B
B O # 5

BEEES

HhGE
BLEEXRE
BEHEE
AEETE
18202413



BEANRE SHCEEEREBELME
2 o] 1B - AR Bif i & #© % =
EIZEHEE 6, 800, 523
BEEH 6, 800, 523
EixAlE 6, 800, 523
EixAlE 4,230,973
B2 #E g 548, 069
1 BE%E 1.00 275,023 275,023
%
2 HEHHERE (1EIB) 1.00 136, 523 136, 523
oo
3 HEHHER 2EB) 1.00 136, 523 136, 523
=
HESHSE 207,598
4 BEEBE 1.00 114, 893 114, 893
=
5 B EHE 1.00 92, 705 92,705
oo
KiFAl= 1,990, 566
6 IEETXNAEAB) 1.00 241,534 241,534
=
7 EEAEIER) AR 35 35. 60 14,796 526, 737
km
8 FEME(IER) N X 4.90 14,796 72, 500
km
) FEAFEIER) BR 1 9.00 15,847 142, 623
km
10 fg£ 57X +2EB) 1.00 241,534 241,534
=




BERREK SHCFEETHSEREAE
% g B - IRk B 2 fill i) IS

11 FEAXRQCEE) A5 36.70 14,796 543,013
km

12 EEAFEQEE) N RE 5.30 14,796 78,418
km

13 SEAEQ2EE) B 13 9.10 15, 847 144,207
km

MR (REAS) 1,484,740

14 SRESER 1.00 1,484,740 1,484,740

=

STHAIE 2,258,182

KERE 1,291, 285

15 #tkriAlE (1EH) AR 6.40 32,992 211,148
km

16 #tkrAlE (1EHE) N i 0.40 32,992 13,196
km

17 #twralE (1EE) B 13 0.50 52,911 26, 455
km

18 #tkriAlE (2EE) AR 6.40 32,992 211,148
km

19 #trrAlE (2EE) N i 0.40 32,992 13,196
km

20 #ewmRlE 2EE) B 13 0.50 52,911 26, 455
km

21 #EERIE (EIB) AR 4.10 65, 984 270,534
km

22 tEMAIE (1EIB) N i 0.90 65, 984 59, 385
km

23 t#EEAIE (1EIB) B 13 1.10 105, 822 116, 404
km

24 tEERIE 2EE) AR 15 3.10 65, 984 204, 550
km




BERNRE SHCEETHEBREAE
2 1B - Bk By = i 8 B E
25 tEETHE QEE) N X 0.50 65, 984 32, 992
km
26 t&ETHE QEE) BRI 1.00 105, 822 105, 822
km
AR CTHRA=) 597, 847
27 SHEEZERL 100m& 35 77.00 4,391 338, 107
TREE
28 HEEZERL 100m~400m 39.00 6, 660 259, 740
TREE
Wi - |E 179, 850
29 ERiRE 1.00 78, 150 78,150
I
30 RS 1.00 50, 850 50, 850
I
31 =EH|E 1.00 50, 850 50, 850
I
A& 189, 200
32 XHBRERER 1.00 170, 000 170, 000
=
33 NHARERERE 1.00 19, 200 19, 200
=
EERE 311, 368
RE 266, 368
34 ®kE 1.00 266, 368 266, 368
=
BIREE 45,000
35 EIREE 1.00 45, 000 45,000
%




ISR SMOEETHEBREAS
% g R - KSR Bifr 2 il & B W =

EEAEE 6, 800, 523
HEHE 6,800,523 x 69.0% — 2,883 4,689, 477
AEEEE 6,800,523 + 4,689,477 11, 490, 000
RIEEHME 11, 490, 000
HETREALE 11,490,000 x 10.00% 1,149, 000
BEXHE 11,490,000 + 1, 149, 000 12, 639, 000




RBKR I/ Avyr—2 SHCEETHEEREMNE
&5 :1
&% BB IEED
£ b 3R - ks Bf = B @ £ = & &
B2 E A
A 1.50 54, 600. 00 81,900
RIS HRER
A 2.50 47,100. 00 117,750
BIEHEE
A 1.50 36, 900. 00 55, 350
BEENF
A 0.50 34, 600. 00 17, 300
MR =X NOY)
% 1.00 2172, 300. 00 2,723
& B 1YE%HeH - 1.00K 2175, 023. 00 275,023
&5 :2
&% MAER(EAB) IEED
£ b 3R - ks Bf = B @ £ = & &
BIEWENE
A 2.00 25,900. 00 51,800
cSwy 2t
B 2.50 33, 349. 00 83,372/4.70H / 8H
MR =X NOY)
% 1.00 135,172.00 1, 351
& B 1E%HeH - 1.00K 136, 523. 00 136, 523
&5 :3
2% AERR 2EB) IEED
£ b 3R - TRk Bif = B @ £ = & &
BIEWENE
A 2.00 25,900. 00 51, 800
cSwy 2t
B 2.50 33, 349. 00 83,372/4.70H / 8H
MR =X NOY)
% 1.00 135,172.00 1, 351
& B 1E%HeH - 1.00K 136, 523. 00 136, 523




Rifiz -/ \v7r—o

TH6EES

SERZAUE

BS54
B ELBE 1XEY
2 b g - BIRTE By H = B ) W = " =
REE S4 kY 2L
B 0.80 3,595.00 2,876/2.00H / 8H
BIEFEHEM
A 0.80 54, 600. 00 43, 680
RIS HRER
A 0.80 47,100. 00 37, 680
Bl S H A
A 0.80 36, 900. 00 29,520
MR 2E0%
% 1.00 113, 756. 00 1,137
& B 1YE%HeH - 1.00K 114, 893. 00 114, 893
F5 .5
&% BLEE 1XEY
2 b g - BIRTE By H = B ) W E " =
REE S4 kY 2L
B 0.30 3,595.00 1,078/2.00H / 8H
@R FRP D 70PSZ%! 3.0t
B 0.50 98, 261. 00 49,130 8H
BIEFEHEM
A 0.30 54, 600. 00 16, 380
RIS HRER
A 0.30 47,100. 00 14,130
Bl S H A
A 0.30 36, 900. 00 11,070
MR 2E0%
% 1.00 91, 788.00 917
& B 1E%HeH - 1.00K 92, 705. 00 92, 705




RiEFR-FET/\vr—2 SHMeEEFEMEBRENE
H#S:6
&% BETZ ~IEB) EED)
# # A - odkhiE B g B # #E w =
RBEE S4 b2 2
=] 1.00 3,595. 00 3,595/2.00H / 8H
I R
A 1.00 47,100. 00 47,100
I FR B
A 1.00 36, 900. 00 36, 900
MEHF
A 1.00 34, 600. 00 34, 600
B A FRP D 70PSE!
=] 1.00 80, 467. 00 80, 467|8H
GNSSAI L& DGNSS
=] 1.00 25, 740. 00 25,740
BEERRE 11 100kHz
=] 1.00 10, 741. 50 10, 741
HAH £ Y00
% 1.00 239, 143. 00 2,391
& B 1E%X8ED - 1. 00K 241, 534. 00 241,534
g5:17
&% FEARAEE) AR 1B4Y 21.1km)
# # A - odkhik B 2 B # #E w =
RBEE S4 b2 2
=] 1.00 3,595. 00 3,595/2.00H / 8H
B A FRP D 70PSE!
=] 1.00 100, 645. 00 100, 645 8H
I R
A 1.00 47,100. 00 47,100
I FR B
A 1.00 36, 900. 00 36, 900
MEHF
A 2.00 34, 600. 00 69, 200
GNSSAIGI & DGNSS
=] 1.00 34, 320. 00 34, 320
BEERRE 11 100kHz
=] 1.00 14, 322. 00 14,322
HAH £ Y00
% 2.00 306, 082. 00 6,121
& B EXBEN : 21.10km 14, 796. 00 312, 203




Rifiz -/ \v7r—o

5.8

&% FEANROER) AN X

TH6EES

SERZAUE

1HHY 21.1km)

£ b g - BIRTE By = B ) W = & &
REBHE 54 kY 2
B 1.00 3,595.00 3,595 2.00H / 8H
BIEf FRP D 70PSZ!
B 1.00 100, 645. 00 100, 645 8H
Bl S HEm
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
GNSS:AIfI £ & DGNSS
B 1.00 34, 320. 00 34,320
BERIREE 1AM 100kHz
B 1.00 14, 322.00 14,322
MR 2RD%
% 2.00 306, 082. 00 6, 121
& i YEZRESN : 21.10km 14, 796. 00 312,203
5:9
2% BEAFE(EE) BRI 1B&Y (19.7km)
£ b g - BIRTE By = B ) W E ik &
REBHE 54 kY 2
B 1.00 3,595.00 3,595 2.00H / 8H
BIEf FRP D 70PS%!
B 1.00 100, 645. 00 100, 645 8H
Bl S A
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
GNSS:AIfI £ & DGNSS
B 1.00 34, 320. 00 34,320
BERIREE 1AM 100kHz
B 1.00 14, 322. 00 14,322
MR 2RD%
% 2.00 306, 082. 00 6, 121
& i YEZRESN 1 19. 70k m 15, 847. 00 312,203




RiEFR-FET/\vr—2 SHMeEEFEMEBRENE
&5 .10
&% HETZ ~QEB) EED)
# # A - odkhiE B g B # #E w =
RBEE S4 b2 2
=] 1.00 3,595. 00 3,595/2.00H / 8H
I R
A 1.00 47,100. 00 47,100
I FR B
A 1.00 36, 900. 00 36, 900
MEHF
A 1.00 34, 600. 00 34, 600
B A FRP D 70PSE!
=] 1.00 80, 467. 00 80, 467|8H
GNSSAI L& DGNSS
=] 1.00 25, 740. 00 25,740
BEERRE 11 100kHz
=] 1.00 10, 741. 50 10, 741
HAH £ Y00
% 1.00 239, 143. 00 2,391
& B 1E%X8ED - 1. 00K 241, 534. 00 241,534
g1
&% TEARQEE) AR 1B4Y 21.1km)
# # A - odkhik B 2 B # #E w =
RBEE S4 b2 2
=] 1.00 3,595. 00 3,595/2.00H / 8H
B A FRP D 70PSE!
=] 1.00 100, 645. 00 100, 645 8H
I R
A 1.00 47,100. 00 47,100
I FR B
A 1.00 36, 900. 00 36, 900
MEHF
A 2.00 34, 600. 00 69, 200
GNSSAIGI & DGNSS
=] 1.00 34, 320. 00 34, 320
BEERRE 11 100kHz
=] 1.00 14, 322. 00 14,322
HAH £ Y00
% 2.00 306, 082. 00 6,121
& B EXBEN : 21.10km 14, 796. 00 312, 203




Rifiz -/ \v7r—o

&5 .12

&% FEARQER) N X

TH6EES

SERZAUE

1HHY 21.1km)

£ b g - BIRTE By = B ) W = & &
REBHE 54 kY 2
B 1.00 3,595.00 3,595 2.00H / 8H
BIEf FRP D 70PSZ!
B 1.00 100, 645. 00 100, 645 8H
Bl S HEm
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
GNSS:AIfI £ & DGNSS
B 1.00 34, 320. 00 34,320
BERIREE 1AM 100kHz
B 1.00 14, 322.00 14,322
MR 2RD%
% 2.00 306, 082. 00 6, 121
& i YEZRESN : 21.10km 14, 796. 00 312,203
5 :13
2% BEAFEQHEHE) BRI 1B&Y (19.7km)
£ b g - BIRTE By = B ) W E ik &
REBHE 54 kY 2
B 1.00 3,595.00 3,595 2.00H / 8H
BIEf FRP D 70PS%!
B 1.00 100, 645. 00 100, 645 8H
Bl S A
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
GNSS:AIfI £ & DGNSS
B 1.00 34, 320. 00 34,320
BERIREE 1AM 100kHz
B 1.00 14, 322. 00 14,322
MR 2RD%
% 2.00 306, 082. 00 6, 121
& i YEZRESN 1 19. 70k m 15, 847. 00 312,203




Rifiz -/ \v7r—o

TH6EES

SERZAUE

&S 14
B MEEER 1X5Y
% L FE - BKTE BfL 2 B % IS w &
IR B
A 3.90 54, 600. 00 212, 940
RIEHER
A 12.70 47,100. 00 598, 170
B = A
A 12.70 36, 900. 00 468, 630
REBF
A 5. 50 34, 600. 00 190, 300
AR 20
% 1.00 1,470, 040. 00 14, 700
& & fEZERESN : 1.00C 1,484, 740. 00 1,484, 740
5 :15
B HMRAE(EE) ARS 1H%Y (4.8km)
% L B - BKTE BfL 2 B 5 = w &
RBE S4 b 2L
= 1.00 3,595. 00 3,595 2. 00H / 8H
RIEHER
A 1.00 47,100. 00 47,100
B = A
A 1.00 36, 900. 00 36, 900
REBF
A 2.00 34, 600. 00 69, 200
AR 2R 0%
% 1.00 156, 795. 00 1,567
& F YEg8ES  4.80km 32,992.00 158, 362




REAR-ET/Avr—> SEEEH LB ELAE
&S : 16
2 MEHNE(EE) A XK 1H%Y (4.8km)
2 s 1BIE - AR B B B ff % W = w =
REE S4 kN2 2L
B 1.00 3,595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HAH 2HE0Y%
% 1.00 156, 795. 00 1,567
= H 1E%8EH :4.80km 32,992. 00 158, 362
517
L% MMHE(EE) BXEH 1H%Y (4.8km)
2 s 1BIE - AR B B B ff % W = w =
@M FRP D 70PSZ! 3.0t
B 1.00 98, 261. 00 98, 261 8H
BT
A 1.00 47,100. 00 47,100
HERER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HAH 2HE0Y%
% 1.00 251, 461.00 2,514
= H E%8H :4.80km 52,911.00 253,975




REAR-ET/Avr—> SEEEH LB ELAE
&S5 : 18
LF  MEEEQEE) AKX 1H%Y (4.8km)
2 s 1BIE - AR B B B ff % W = w =
REE S4 kN2 2L
B 1.00 3,595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HAH 2HE0Y%
% 1.00 156, 795. 00 1,567
= H 1E%8EH :4.80km 32,992. 00 158, 362
=5:19
LF  MEHEQCEE) A K 1H%Y (4.8km)
2 s 1BIE - AR B B B ff % W = w =
REE S4 kN2 2L
B 1.00 3, 595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
HERER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HAH 2HE0Y%
% 1.00 156, 795. 00 1,567
= H E%8H :4.80km 32,992. 00 158, 362




REAR-ET/Avr—> SEEEH LB ELAE
£S5 :2
L%  MMEEQEE) BXEH 1B4Y (4.8km)
2 # 1BIE - AR B B B ff % W o= w =
@M FRP D 70PSZ! 3.0t
B 1.00 98, 261. 00 98, 261 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 251, 461.00 2,514
= H 1E%8EH :4.80km 52,911.00 253,975
ES: 2
2 BEAE(EE) AXSE 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 1.00 3, 595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
HERER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 156, 795. 00 1,567
= H E¥£8EH :2.40km 65, 984. 00 158, 362
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REAR-ET/Avr—> SEEEH LB ELAE
£S5 :22
2% BEAE(GEE) A XK 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 1.00 3,595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 156, 795. 00 1,567
= H E¥8EH :2.40km 65, 984. 00 158, 362
&5 :23
2%  BEHE(EE) BXH 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
@M FRP D 70PSZ! 3.0t
B 1.00 98, 261. 00 98, 261 8H
BT
A 1.00 47,100. 00 47,100
HERER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 251, 461.00 2,514
= H E¥£8EH :2.40km 105, 822. 00 253,975

11




REAR-ET/Avr—> SEEEH LB ELAE
£S5 :24
L%  BEHEQEE) AXSE 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 1.00 3,595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 156, 795. 00 1,567
= H E¥8EH :2.40km 65, 984. 00 158, 362
£S5 :25
2%  BEHEQEE) A XK 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 1.00 3, 595. 00 3,595/2.00H / 8H
BT
A 1.00 47,100. 00 47,100
HERER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 156, 795. 00 1,567
= H E¥£8EH :2.40km 65, 984. 00 158, 362
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REAR-ET/Avr—> SEEEH LB ELAE
£S5 :26
2%  BEHEQEE) BXH 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % i w =
@M FRP D 70PSZ! 3.0t
B 1.00 98, 261. 00 98, 261 8H
BT
A 1.00 47,100. 00 47,100
B RER
A 1.00 36, 900. 00 36, 900
HEHE
A 2.00 34, 600. 00 69, 200
HHE 2HE0Y%
% 1.00 251, 461.00 2,514
= H E¥8EH :2.40km 105, 822. 00 253,975
&5 :21
L MEBMER  100mE 100H 7 E X4 Y
2 # 1BIE - AR B B B ff % i w =
B8 AR
A 1.00 54, 600. 00 54, 600
BT
A 2.00 47,100. 00 94, 200
HERER
A 4.00 36, 900. 00 147, 600
HEHE
A 4.00 34, 600. 00 138, 400
HHE 2HE0Y%
% 1.00 434, 800. 00 4,348
= H YEZERES ;- 100. 004 MR 4,391.00 439, 148
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Rifiz -/ \v7r—o

SHM6EEEH

SERZAUE

&5 .28
L MEZMEMR  100m~400m 100#&BTE % Y
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 3.00 47,100. 00 141, 300
Bl S H A
A 6. 00 36, 900. 00 221,400
BEBF
A 7.00 34, 600. 00 242,200
MR 2E0%
% 1.00 659, 500. 00 6, 595
& B 1YEZAES - 100. 004& B m 6, 660. 00 666, 095
529
¥ . BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 0.50 47,100. 00 23, 550
& Hi 1YEZHER - 1.00[E 78, 150. 00 78, 150
&5 :30
& PRERE HEED)
2 b g - BIRTE By = BHoO(f %8 # " =
BIEFEHEM
A 0.50 54, 600. 00 217,300
RIS HRER
A 0.50 47,100. 00 23, 550
& Hi 1YEZHEH - 1.00[E 50, 850. 00 50, 850
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Rifiz -/ \v7r—o

SHM6EEEH

SERZAUE

&5 : 31
£ EW|E HEED)
2 b g - BIRTE By H = B ) # " =
BIEFEHEM
A 0.50 54, 600. 00 27, 300
Bl S HEm
A 0.50 47,100. 00 23, 550
& Hi {EZ8ER - 1.00ME 50, 850. 00 50, 850
&5 .32
2% EBHRRA 1XEY
2 b g - BIRTE By H = B ) # " =
EBEHRMAE
= 1.00 170, 000. 00 170, 000
& Hi EZBER - 1.00 170, 000. 00 170, 000
&5 .33
2% AFARRRERE 1XEY
2 b g - BIRTE By H = B ) # " =
Em (C)
A 0.50 38, 400. 00 19, 200
& Hi 1EZBER - 1.00 19, 200. 00 19, 200
5:34
B kB 1%Ly
2 b g - BIRTE By B = B ) # " =
RBE
= 1.00 266, 368. 00 266, 368
& i 1EZBER - 1.00 266, 368. 00 266, 368
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Rifiz -/ \v7r—o

SHeEEEMEBFZAE
&5 :35
L% BIREE
2 b g - BIRTE BT o = BHO(f ® W = fi&
EIREE
= 1.00 45, 000. 00 45, 000
& Hi 1YE%HeRH 1,00 45, 000. 00 45, 000
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